— A5X0) W@%

80013

80017

60189

B5T2- 01



80049 60020

70001 70016

80053

-

= TS %%§b
N
80013

60035

\ ) 60343

N

BE5T2-02



80013 80004

80036

5 e

Q

60004

80036 80033 80016

BE5T2-03



80020

80019

E5T2-04



— A5X0) W@%

E5T2-05



E5T2-06



— G50 7

60051 o2 ;
3 f
80067 / o s 4“ 4‘!} 0060
YD
/ //’
80131 60528 e /” ﬁy é‘b y gg &6
—
,@’f@ 60050 63530
93{?/ 60056
80016 /
1 (\ Q) 0 60058
) 60211
80039 S ’
é 70028
7 (@ o
“ o
80128
81019
80014

80039 60057

80029

60529

I 60341

B5T2-07




— G50 17

50050

50FH

¥19, 800

S0FH

x1

60001

Ass'y

¥3, 000

Ass'y

x1

60002

T88

¥500

T88

x 1

MBx 06

x 4

60003

Ass'y

¥3, 000

Ass'y

x 1

MBx 05( )

x 2

x 2

60004

Ass'y

¥3, 300

Ass'y

x1

60005

¥500

x 1

Mix 04

x1

60009

¥600

x 1

60010

¥700

x1

M. 6x 08

x 4

60011

¥400

x1

MBx 05

x 4

60012

Ass'y

¥1, 400

Ass'y

x1

60013

¥480

x1

60014

Ass'y

¥2, 500

Ass'y

x 1

60015

¥500

x1

L10

x 1

x 2

Mex 10

x 2

V4

X 2

60017

A Ass'y L-19102Z

¥1, 500

A Ass'y L-1910727

x1

L-19107272

60018

B Ass'y R 196027

¥1, 500

B Ass'y R 196027

x1

R 196022

60020

F

¥500

F

x 1

L32

x1

x1

Mex 08

x 1

60021

R

¥500

R

x1

L32

x 1

x1

Mex 08

x1

60022

¥300

X 2

x 2

60023

¥300

x1

60024

E5T2-08

¥400

X | X |X |X

N



— G50 17

60025 ¥1, 200
x 3
L13 x 1
L26 x 1
x 6
Mex 08 x 6
60026 ¥400
x 1
MBx 10 x 4
60027 ¥600
x 2
60028 ¥600
x 1
MBx 10 x 2
60032 ¥1, 800
x 2
x 2
x 4
X 4
MBx 04 x 4
MBx 12 X 4
M 12.8 x 4
[\Vol x 4
60033 ¥1, 000
x 2
MBx 04 x 4
60034 ¥800
x 2
x 4
60035 ¥600
x 1
MBx 08 x 4
M. 6x 12 x 12
M. 6 x 12
60036 ¥200
x 3
60040 2.5x5 1m ¥500
2.5x5 1m x 1
60043 ¥200
x 1
M. 6x 15 x 1
MBx 08 x 2
60044 ¥100
x 1
Mp. 6% 12 x 1
60046 AB ¥600
A B x 1
MBx 08 x 2
MBx 10 x 1
MBx 12 x 2
M3 t2.8 x 5
60047 /R ¥600
/R x 1
MBx 15 X 4
MBx 40 X 2
M 12.8 x 6
60050 Ass'y ¥1, 600
Ass'y X 1
60051 ¥450
x 2

B5T2- 09



— G50 17

60054

¥300

Mex 20

M2x 08

X | X [x|x|x|x
N

1

60056

¥200

x 2

x 2

x 4

60057

¥200

x1

60058

¥1, 200

x 1

60059

¥1, 100

x 2

M t2.8

X 2

60060

L540

¥700

L540

x2

60063

¥1, 000

X 2

Mex 10

x 2

x 2

60064

¥600

x1

MBx 08

x 2

60065

¥600

x 2

L12

x 2

t0.5

x 4

Mex 10

x 4

X 4

MBx 16

X 2

x 6

60066

¥1, 200

x1

60067

¥1, 000

x1

X 2

MBx 05

x2

60068

¥200

x1

x 2

60069

¥600

X 2

Mix 04

x 2

Mex 08

x 2

X 2

60070

60

¥400

60

x 4

60072

¥200

x 4

60075

¥850

M. 3x 30

x 1

M. 3x 40

x 2

x 2

>

X 2

x 6

60087

32 50

¥2, 000

x 1

60088

50FH

¥1, 500

50FH

x1

60157

E5T2-10

Ass'y

¥2, 000

Ass'y

x 1



— G50 17

60187

¥800

x1

Mex 13

x 1

60189

¥400

MBx 08

60190

¥400

MBx 06

60211

60217

S3ML596

S3ML596

60218

MBx 12

MBx 12

M t2.8

60244

JRVBOC

JRVB0C

MBx 35

MBx 08

60293

60333

L230

2.5x 5.0

07x 12x 1

%4

60334

60335

60336

im

60341

60342

M. 3x 50

M. 3x 80

M. 3x 115

60343

M. 3x 50

x 2

M. 3x 60

x1

M. 3x 70

x 2

x 10

60410

¥2, 500

x 2

x 14

60457

BT12-11

¥2, 600

x 2



— G50 17

60471

¥800

60528

¥450

Mex 10

MBx 15

X X |x|[x |x
ANRINN

M t2.8

X 2

60529

/R

¥800

/R

x 1

M. 6x 10

x 4

MBx 10

x1

MBx 12

x 2

M. 6

X 4

60530 HG

¥3, 000

Mex 10

MBx 15

MR

M t2.8

X |[X [X |X |[X|X

AN RN

MBx 03

X 2

Brag

04x 10x 4

x 4

70001

A Mx 08

¥500

x 10

M2x 08

x 10

70002

B Mx 10

¥500

x 10

Mex 10

x 10

70003

¥500

X 2

70004

¥500

x 10

70005

¥1, 500

x1

M4

x1

70006

¥400

x 4

70007

¥150

x 1

70008

¥300

x1

x 4

70009

¥1, 500

x 1

x 1

x1

70010

¥150

x 2

x 2

x 4

70011

¥500

2

L10

t0.5

MBx 15

Mex 10

X [X [X |X |X X |X
NINININ AN

70012

L10

¥300

BE5T2- 12

L10



— G50 17

70013 L12 ¥300
L12 x 2

70014 L13 ¥400
L13 x 2

70015 L26 ¥600
L26 x 2

70016 L32 ¥700
L32 x 2

70017 A 3x 8x 4.5 ¥200
A 3x 8x 4.5 x 2

70018 B 3x 8x 6.5 ¥200
B 3x 8x 6.5 X 2

70019 ¥300
x 1

70020 L32 ¥500
L32 x 2

70021 L60 ¥600
L60 x 2

70023 ¥200
x 4

70025 ¥200
x 4

70027 ¥600
x 1

70028 ¥300
x 1

70029 ¥300
x 2

70035 S L37 ¥600
S L37 x 2

70064 S L32 ¥600
S L32 x 2

70083 ¥200
x 2

70090 MG 30 ¥400
MG 30 x 2

70095 L ¥300
L x 2

70100 ¥200
x 4

70104 B ¥500
B x 10

70106 ¥600
B x 1

B x 1

x 1

2.5x 3.6x 150 x 1

07x 12x 1 x 1

\V/4 x 1

70110 05x 09x 1 ¥200
05% 09% 1 X 2

70111 08x 13x 1 ¥200
08x 13x 1 x 2

70112 L12 ¥400
L12 x 6

70136 S L5 ¥350
S L5 X 2

70193 ¥500
x 2

80001 MBx 04 ¥200
MBx 04 x 10

80002 MBx 18 ¥200
MBx 18 x 10

80004 Mix 04 ¥300
Mix 04 x 10

BE5T2-13



— G50 17

80005 Mex 04 ¥350
Mex 04 x 10

80008 Mex 20 ¥400
Mex 20 x 10

80009 M. 6x 12 ¥350
M. 6x 12 x 10

80010 M. 6x 15 ¥400
M. 6x 15 x 10

80011 MBx 05 ¥300
MBx 05 x 10

80012 MBx 06 ¥300
MBx 06 x 10

80013 MBx 08 ¥300
MBx 08 x 10

80014 MBx 10 ¥300
MBx 10 x 10

80015 MBx 12 ¥300
MBx 12 x 10

80016 MBx 15 ¥300
MBx 15 x 10

80017 MBx 16 ¥300
MBx 16 x 10

80018 MBx 18 ¥300
MBx 18 x 10

80019 MBx 22 ¥350
MBx 22 x 10

80020 MBx 28 ¥400
MBx 28 x 10

80022 MBx 40 ¥400
MBx 40 x 10

80023 Mix 30 ¥150
Mix 30 x 2

Mt X 2

80024 Mex 08 ¥150
Mex 08 x 10

80025 M. 3x 08 ¥150
M. 3x 08 x 10

80026 M. 6x 08 ¥150
M. 6x 08 x 10

80027 M. 6x 12 ¥150
M. 6x 12 x 10

80028 MBx 06 ¥200
MBx 06 x 10

80029 MBx 12 ¥200
MBx 12 x 10

80030 MBx 05 ¥300
MBx 05 x 10

80031 Mx 08 ¥150
Mex 08 x 10

80032 Mex 10 ¥150
Mex 10 x 10

80033 M8 ¥100
M8 x 10

80034 M2 ¥100
M2 x 10

80035 M. 6 ¥100
M. 6 x 10

80036 M8 ¥100
[\Vo x 10

80037 M2 ¥150
M2 x 10

BE5T12-14



— G50 17

80038 M. 6 ¥150
M. 6 x 10
80039 M t2.8 ¥400
M t2.8 x 10
80040 Mi ¥450
Mt x 10
80042 M. 3x 30 ¥100
M. 3x 30 x 2
80044 M. 3x 40 ¥100
M. 3x 40 x 2
80046 M. 3x 60 ¥100
M. 3x 60 x 2
80049 t0.5 ¥100
t0.5 x 10
80050 MBx 8 ¥250
MBx 8 x 10
80051 t0.13 ¥100
t0.13 x 10
80053 M. 3x 50 ¥100
M. 3x 50 x 2
80055 M. 3x 70 ¥100
M. 3x 70 x 2
80067 MBx 03 ¥200
MBx 03 x 10
80078 Mex 13 ¥100
Mex 13 x5
80079 MBx 35 ¥400
MBx 35 x 10
80089 M. 6x 10 ¥350
M. 6x 10 x 10
80094 MBx 05 ¥400
MBx 05 x 10
80095 MBx 08 ¥350
MBx 08 x 10
80104 M. 3x 115 ¥100
M. 6x 115 x 2
80105 M. 3x 80 ¥100
M. 6x 80 X 2
80128 M2 ¥350
M2 x 10
80129 M. 6 ¥350
M. 6 x 10
80131 Mex 10 ¥350
Mx 10 x 10

81004 Brg 05x 13x 4 R 1350ZZ ¥1, 100
Brg 05x 13x 4 R 1350ZZ x 2

81005 Brg 10x 19x 7 L-19107Z ¥1, 100
Brg 10x 19x 7 |-1910ZZ X 2

81006 Brg 06x 19x 6 R 1960ZZ ¥1, 100
Brg 06x 19x 6 R 1960ZZ x 2
81010 B-F-1 ¥200
B-FH-1 X 2
81011 B 3-4 ¥200
B-3-4 X 2
81013 C M4 ¥200
C M4 x 1
81015 A V4 ¥200
CA M2 x 10

81019 Brg 04x 10x 4 |-1040ZZ ¥1, 100
Brg 04x 10x 4 L-1040ZZ X 2

81025 Brg 05x 19x 6 635ZZ ¥1, 100
Brg 05x 19x 6 63577 x 2

81029 Brg 05x 10x 4 T5-10 ¥1, 500
Brg 05x 10x 4 T5-10 x 2

BE5T2-15



82037 ¥4, 200

x1

x 1

x 4

M. 3x 08 x5

82038 ¥1, 000

x 1

M. 3x 08 x5

83012 L690 ¥1, 200

L690 x 1

83014 L475 ¥800

L475

X X [x|x[x|x
N

M. 6x 12
M. 6x 15
MBx 08 2
83019 JRG00 ¥3, 400
JR/B00 x 1
83023 L475 ¥500
L475 x 1
83028 L918 ¥500
L918 x 1
x 2

BE5T2-16



